MATH 142 (Section HO1)
Prof. Meade

Exam 4
November 25, 2014

Instructions:

University of South Carolina
Fall 2014

Name: F\Q\J
Section HO1 l

1. There are a total of 4 problems on 6 pages. Check that your copy of the exam has all of the

problems.

2. Calculators may not be used for any portion of this exam.

3. You must show all of your work to receive credit for a correct answer.

4. Your answers must be written legibly in the space provided. You may use the back of a page
for additional space; please indicate clearly when you do so.

Problem Points Score
1 32
2 30
3 24
4 14
Total 100

Happy Thanksgiving!




There is no exam content on this page.




1. (32 points) [8 points each] Determine if each series converges or diverges.
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2. (30 points) [10 points each] Determine if each series converges absolutely, converges condi-
tionally, or diverges.
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3. (24 points) [8 points each] Determine if each series converges or diverges.
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4. (14 points) Consider the convergent series
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(a) Write this series in summation notation.
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(b) Explain why we know this is a convergent series.
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(c) Estimate the error in using the sixth partial sum to approximate the total sum.
NOTE: Leave your answer as a rational number (fraction).
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(d) How many terms are needed to approximate the sum of this series with an error that
does not exceed 0.0005 = 1/2000? (Do not approximate the sum!)
HinT: 28 =8 24 =16, 2° = 32, 26 = 64, 27 = 128, 28 = 256 and 2! = 2, 3! = 6, 4! = 24,
51— 120, 61 = 720, @ — 5040, 8" — 103520
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